AFM Final Exam Review #2        (2014)



Date_______     Name_____________________

1.  For the data set {3, -5, 7, 4, 8, 2, 11, -3, -6}, find the 5-number summary.  
     a) minimum = -6, median = 3, maximum = 11, range = 17, mean = 2.33

     b) minimum = -6, maximum = 11, mean = 2.33, median = 3, mode = none
     c) minimum = -6, lower quartile = -4, median = 3, upper quartile = 7.5, maximum = 11

     d) lower quartile = -4, upper quartile = 7.5, mean = 2.33, minimum = -6, maximum = 11

	Aptitude Score
	1
	2
	3
	4
	5

	   Frequency
	2
	1
	3
	5
	2


2.  Use the above data to find the mean, median, and mode aptitude score.

     a) mean = 3
b) mean = 3
c) mean = 3.3        d) mean = 3.3

         median = 3                median = 4                     median = 4             median = 3

         mode = none              mode = 4                       mode = 4                mode = 4

3.  Which of the following has the largest period?
a) y = 5 cos(4x)

b)  y = -3 sin (5x)
c)  y = cos (
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d)  y = 2 sin (x)

4.  Find the equation of the line parallel to x + 2y = 5 and has y-intercept 3. 

     a) x + 2y = 6              b) 3x – y = 2
 c) 2x + 2y = 3
 d) x + y = 2
5.  Find the domain of the function:  
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6.  Use the formula, 
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, to answer the questions below if a bullet is shot straight upward with an initial   speed of 800 ft/sec. 

# 6A:  When does the bullet fall back to ground level?  _____________
    # 6B:  When does it reach a height of 6400 feet?  ______________

# 6C:  How high is the highest point the bullet reaches? _____________
7.  Evaluate the piecewise function at f(0), f(2), and f(3).     
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a)  f(0) = -1
b) f(0) = 6
c)  f(0) = 0

      
d) f(0) = 6


     f(2) = 6
    f(2) = 7
     f(2) = 6


    f(2) = 7

         f(3) = 11
    f(3) = 11
     f(3) = cannot determine
    f(3) = 7

8.  Determine which equation shows the given transformations on the graph of  
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        Shift 1 unit to the right, reflect in the x-axis,  and then shift up 3 units. 


a) 
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9.  Change from logarithmic form to exponential form:  
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10.  Convert from exponential form to logarithmic form:   
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11. If John invests $4000 in an account that pays 5.2% compounded continuously and Alex invests $3$5000 in an account that pays 6.1% compounded continuously, how much more did John earn in 8 years?
a)  5597.36
b)  $4887.16
c)  $710.19
d)  $918.86


12.  Solve the following equations, accurate to 3 decimal places.

a)  
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c) 
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      x = _____________                   
x = ______________

x = _______________

13.  State the amplitude and period for y = 3 sin (2x).


a)  amp = 3
b)  amp = 2
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c) amp = 3

d)  amp = 2/3

    period = 
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    period = 3
   period = 4
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     period = 
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14.  Find the number of distinguishable permutations using the letters from the word ROBMURRO.

 a) 13,440
b) 3360
c) 40,320

d) 5040

15.  A committee composed of 4 men and 3 women is to be selected from a group of 20 men and 16 women.  How 
 many different committees can be formed?


a) 2,074,800
b) 3840
c) 2,713,200

d) 6840
16.  How many ways can 5 digits on a license plate be arranged if the first digit cannot be 0? (digits can repeat)


a) 90,000
b) 100,000
c) 30,240

d) 45360

17.  Two cards are chosen from a deck of 52 cards. In how many ways can this be done if the first card must be a 
heart and the second card must be a black face card? __________________
18.  Joe gets $2 if a coin shows up heads and $1 if it shows up tails.  What is his expected value?

a) $1.00
b) $1.25
c)  $1.32

d) $1.50

19.  How many more ways can 14 sophomores running for the positions of president, vice president, and treasurer be selected when compared to 12 freshman running for 5 identical positions of class representative?
a)792
b) 2976
c)1392
d)  428

20.  What is the next term in the geometric sequence 16, -4, 1, 
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b)  0
c) 
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d) 
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21. If the first term in an arithmetic series is 3, the last term is 136, and the sum is 1390, what are the first 3 terms? 

a) 3, 10, 17
b) 3, 23, 43
c) 3, 
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d) 3, 139, 1251
22.  In which quadrant(s) would the graph of y = kxn  be located if  k< 0 and n is a positive even number?   ________
23.  In which quadrant(s) would the graph of y = kxn be located if  k> 0 and n is a negative odd number?  _________
24.  A Ferris wheel has a diameter of 90 feet and completes one rotation every 45 seconds.  If you start (t = 0) at the lowest point of 4 feet, give the equation for the height at any time t.
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